W
O
@
/N
=
0

OTHER TOS ELEVATIONS SHOWN THUS: () RELATIVE TO 136'-0 /2" THESE PIPES ARE NOT STRUCTURAL HANGERS.
2. SEE 5-SCHED-| FOR LINTEL ¢ HEADER SCHEDULE FOR HEADERS ¢ LOOSE
LINTELS OVER DOORS AND WINDOWS

3. ALL ROOF SHEATHING TO BE 3/4" C-D PLYWOOD, SEE SPEC. FOR
MORE INFO.

5
|
(HD
TN

N

¢ ¢ € € ¢ ¢ ¢ ¢ ¢
| &l_sll ' 26!_.5" | 2&!_0!! | Sl_4ll | Isl_4ll L 5'-5” | Iol_2ll | 2—,!_6!! | Ill_4ll |
(1) ROOF TRUSSES TO BEAR
5-800 ON THIS BEAM LINE.
TRUSSES CAN BE SPLICED |
| at THIS BEAM LINE
[ [
I Mé_@ () | —SEE DTL 2/5-300 FOR ONE VENEER LINTEL ¢
| W Q (14-4" LONG) TO EXTEND OVER SIDE ) M | T C |_| ELL
X~ Q gg%,\ WINDOWS AND [DOOR. (OMIT INDIVIDUAL 9
‘ — ]S -~ gt} VENEER LINTELS FOR LI& AND LII) ‘ Q
L1 Lfe |1 A SSOCIATES
(12 ) (22 = NEIE . i j o y - B 526’;0 - - 52)@ - - - B - - - B N -5
\e-600) \&-600) _nexe | — OVERBUILD RQOF - - ¢
=il A= TRUSSES AT 21-0" OC. . ARCHITECTS
K< <Y | Q
N & L12 | L12 L11 L11 | | ) 29 THACHER PARK ROAD
) _ _ AN ] = ; : : = : i \ 3 i + — ; = ; : 1 _ B 3 B B B L 9 VOORHEESVILLE, NY 12184
¢ N I(N2I_50>ﬁ)lo ' rq2||3|>)<4o | lex4d| ! T W 18| x46 X Wellx 1o ! ll Wiex |40 | | 2 ¢ (518) 145-45T  FAX (518) 145-2950
o W &x10 ——], ! ' ! ) | ! ! - ' | ng?’ !w &'xlo! | \ ;;_ WUW.MTCHELL-ARCHITECTS.COM
iy (-2 | | ' | L - -T [ N i ) | | 2) it === - - - - - < 3
e A I ' | I ! ’ 1% I ) I ] % l ntd I ¢
- @ , + St “ | Z MECHANICAL UNIT TO BE HUNG
— L N R - — , 7/- FROM BOTTOM CHORDS OF
£ - S | ! UL . . I : VA ) ROOF TRUSSES. UNIT WEIGHT = EMERGENCY
— [} } X =
5 & s N e A ’ = | /AR : ERVCE
3 2 R -- --— : :
in el | N 3 L/ < N 2B oM. ? FACILITIES
< S | ! 1 ! P -- - Sl 5-600 Q
1 1 1 - =< - ‘ | :l | V4 ‘ ¢ N % 1;9\ TOS.
= i — =l ® AN 132-8 1/2"
=1l v | ' ' ! : { S “H CONSULTANTS:
I 1r %
1 0 | : ! ! ‘ Q | : |u_£ INSITE ENGINEERING
= % A ! ! L i W &xlo SURVEYING ¢ LANDSCAPE
— O ! , A1 iy : ) =t i - - - - - A ARCHITECTURE, P.C.
—H- - - — % 3 ' ' ' " Kq \ ' | 0 CIVIL ENGINEERS
5 _ _ _ _ L L N 14x38 | Q F1| ' I I , : o5 |
c olfi M il L] = 3
—_— . i =
- Q W o]y] ) ROOF TRUSSES TO BEAR i CRAIG A. MALONEY
—H- -———l b ! nex|& 4 I ; \ %) I I N ON THIS BEAM LINE. N STRUCTURAL ENGINEERING
— I G N R T.05. 13-4 1/2" o ! 7 i ! ! N TRUSSES CAN BE SPLICED CONSULTANT
LOUVER LINTEL 2lss - -- i . TYF! A ‘ . < at THIS BEAM LINE
] and HEADER b | o i q a | W 24x62 L W 24x62 [C] N 24x62 ES ,
Y 5 <& G ! D . " = i = = . ] - - - - "¢ GERARD ASSOCIATES
T o 49(5' ! J == -G, TYP. | N : ® | ju 9 I - CONSULTING ENGINEERS, P.C.
=4 -- j | W 8l ! | 3 0 MECHANICAL, PLUNBING
] (I 2 - _W5><I|_3|_" ROOE E i | N =Y < AND ELECTRICAL
= 1 \2\ ] [} | T.O.s. |3| -4 |/2 OVERBU”_D ] z ~ o = )
0 | - v I o
9 | = TRUSSES at h | »&@E/ o
T\ ! - 24" ocC. Ia) | ar —
| © Z| '
7 B B I B |4 W &xIO X IN 16x3] ! ! — - 0 - 7 _ ~ - - - B 0 | B - W &x10 (| - - - B | -
C T I J . I ™ [ (35" 20 N¢
‘< (-2-0") I |('2'-0")A g IS ! =€= ‘ é > % f(|)
AT : - | "TOMIT SHEATHING FOR I'-6" A S s .
5200 g | ToM. 33-4" x 3'-0" (BETWEEN TWO , I Q« X b
: | | TRUSSES) TO ALLOW FOR | , § oo ___X @ (o)
1 N— TOM. 348" , VENTING OF MAIN ROOF 4 n ES
~ ¢ i INTO OVERBUILD ROOF 1 O
28|\ ; 0 0 W &xlo N
| Q QO 2N 311 - - - - - N 8
. 5-600) L p— R . , X i X[~ (12 =) ¢
Q $q G B [ ' o Nl w >
:'D a EQSH § < <~ <@ ) T T HELE:OAF’SYRIGHT 2020
o - ke N uNATJ:EOR!ZED jfT(g:ZEﬁorjznggg\?oN
W 1 % | =~ TO THIS DOCUMENT IS A VIOLATION OF LAW
o - (12 X | X & L |
ROOF PATIO ﬁ‘—’] Q 000/ .
X | N} ~ =
SEE DAG. 5-20 | B Y «%‘)\ % N i) NEW STATION
o < I i ¥ X N
1 | < X
4| W <
@ ) } i } i ) . ) : I[[IC wlexio PUTNAM VALLEY
q; : Wi : t
S LI FIRE STATION #
i ! nexioll | Q
- e --—--tT--—a ———- ———r|( - - - - - S le
) 1) = § 9 = ¢
o |l 0] o 0 ! ‘ 5 OSCAWANA LAKE ROAD
. < < X PUTNAM VALLEY, NEW YORK
IA 3 T S\
¢ <L =/ W 12x19 | W 12x19 N 12 xI9 N L T ,
LOW ROOF %—T—FH—E : LJ',' : : = i : 2o : I u - - - >v - T - - - - - - DATE DESCRIPTION
SEE DWG. $-20 S S < I 0 ey i 5 B L1 1 013 L1 = | | [ m N
o
ROOF TRUSSES TO BEAR ‘ ) ’ £ /A
ON THIS BEAM LINE. o600/ KEYED NOTES P
TRUSSES CAN BE SPLICED ) W S A
at THIS BEAM LINE S & A OH. DOOR LINTEL TO BEAR ON MASONRY (8" BEARING), SEE DTL 8/5-105 /N
< < B PROVIDE SUPPORT AT COLUMN (OR BEAM) FOR LINTEL(S)
| — OVERBUILD ROOF C 1/8" x 6" x 10" BEARING PLATE W/ (2) MASONRY ANCHORS, GROUT BELOW /\
5 TRUSSES AT 2'-0" OC. FOR 3 COURSES x l6" WIDE. SEE DTL. 6B/5-103 FOR MORE INFO.
D 12" CMU W/ #6 VERT. BARS AT 48" 0.C. IN GROUTED CORES AND /N
HORIZONTAL JOINT REINFORCING AT 16" 0.C. VERTICALLY. A
E PILASTER W/ (4) - #6 VERT. BARS IN GROUTED CORES W/ #2
CLOSED TIES AT 8" O.C. VERTICALLY.
F END PILASTER W (4) - #T VERTICAL BARS IN GROUTED CORES.
T 3/2" x 5" x &" BEARING PLATE W/ (2) MASONRY ANCHORS. ,
4 |/ %" at 6 N o G T B O PoR 2 CalRers X 167 WD STATUS:  FOR BIDDING
H PROVIDE HANGER FOR LOW ROOF or CANOPY ROOF BEAM. SEE DTL [0/5-100
‘ o J HSS 4x4 PARAPET POSTS AT &'-1I" 0.C. (MAX). SEE DTL 1/5-500
o K PROVIDE DECK SUPPORT ON FACE OF COLUMN, SEE DETAIL 5/5-200
. L CUT CONTROL JOINT IN SLAB ABOVE WALL OR BEAM (THAT IS BELOW). SOOE FRAMING
F/%Rx :ULE'—L'_“,‘ELEGTH M ROPE TIE OFF FRAME. SEE DETAIL 2/5-200 SLAN
N of L7 x 4 N W &Xi& ELEVATOR HOIST BEAM. TOS. = |33'-4"
| P L 6x4x3/8 CONTINJOUS LEDGER W/ 3/4" DIAM EXP BOLTS AT 16" O.C.
l- " l- " | " l- " l- " l- " l- " l- " l- " l- " | " (b 5/4'" EMBED-)- DEGK BEARS ON THls LEDGER-
LT 4 x % Py &-5 20-5 &-o 20-6 =1 v ° 6-2 L L P b M. 20-8 =4 Q &' CMJ W #5 VERTICAL BARS AT 40" OC. IN GROUTED CORES AND
CINTEL. Wit o ! ! ! ! HORIZONTAL JOINT REINFORCING AT 16" ©0.C. VERTICALLY.
5" BRE EACH END R L 6x4x3/2 CONTINJOUS LEDGER W/ 3/4" DIAM EXP BOLTS AT 32" OC.
' C ¢ C C ¢ ¢ C C ¢ ¢ ¢ ¢ (6 3/4" EMBED.). DECK SPANS IS PARALLEL TO THIS LEDGER.
SEE WELD NOTE S 5/16" BENT PLATE CONT. SLAB EDGE MEMBER, SEE DETAIL 4/5-202 SCALE:  AS NOTED
ABOVE B C G H J L N Q R T U W T /4" X 5' CONTINJOUS BEARING PLATE (ATOP 8" CMU WALLS, SEE NOTE &) DUG. BY:  je/CAM
W/ MASONRY ANCHORS AT 32" 0.C. SEE DETAILS TA and 1B/5-202 BUG DATE:  08/14/2020
U 5/8" x 6" x 4" BEARING PLATE W/ (2) MASONRY ANCHORS, GROUT BELOW e o,
FOR 3 COURSES x 16" WIDE. SEE DTL. 6B/5-103 FOR MORE INFO. :
/—\ V & CANTILEVERS TO SUPPORT STAIR STRINGERS
- | - W FLOOR DECK TRANSITION - PROVIDE APPROPRIATE DECK CLOSURE PLATE.
m DETAIL - LINTEL FRAMING FPLAN - ROOF X Srx o e PLAT 3 Loy e, oo
- . Y " _ A . BELOW FOR 2 COURSES x [6" WIDE. SEE DTL. 6B/5-103 FOR MORE INFO.
Q-S00) SCALE: 112" =10 @ SCALE: 1/8" = -0 NOTES - ROOF FRAMING: Y CONNECT (WELD) 5/16" BENT PLATE TO COLUMN
. TOS5. = 136"-0 /2" Z SEE DNG A-312 FOR PIPES ATTACHED to W8'5 THAT ALSO CONNECT to STRINGERS,




	Plans][2_PV-Structural_Current_2020_09_26
	PVFS_S_300 - 2020-08-14-1948




